RHN—180,/95,125(P) #itieE

B FIFfETRE
1000 =
500 %
400
300
200
fi 100
B 20
F'Eﬁ 30
(») 7 =
TRIPPING 1 v
TIME . =
(SEC.) ; 7
3 D — P
— (Cold-state curve
1 . Z?%” e
4444 (Hots’[o e curve)
0.9 1 2 3 4 5 6 7 8 9
BEE R ZBEY
(FULL-LOAD CURRENT %)
RAERS B PR BRI
B EERHER
1000
500
400
300
200
fz 100 &__J%
s —
Eil 30 V\eg/
(® " 2,
TRIPPING 1 =% =
TIME % %% B
? L (Cold-state curve)
(SEC.) 3
2
B
. (Hotsé’[ote curve)
09 1 2 3 4 5 6 7 8 9

BEE R B
(FULL-LOAD CURRENT %)

=R R B FRF IR

-y

E

R

5
(¥)

TRIPPING

TIME
(SEC.)

L5y

e

By

FE
(®)

TRIPPING

TIME
(SEC.)

1000

500
400

300

200

100

30

30
20

10

N whg

1000

500
400

300
200

100

30
40

30
20

10

N WA

RHN—180,/160,185(P) 3RtizE

B PR R IE
Eg
=
%
0
Z % N
“ sy FEBpHE
= 27 (Cold-state curve)
< BEEE
(Hot!sﬁt?’(@curve)
0.9 1 2 3 4 5 6 7 8 S
BREERZIEH
(FULL-LOAD CURRENT %)
RABIRF < B FIRF TR
B IR BRI
<>
17N
=72\
D>
“
= 29722
= s
(Cold-state curve)
BEER
(Hot!sé’(fgfrcurve)
09 1 2 3 4 5 6 7 8 S

BEE R B X
(FULL-LOAD CURRENT %)

=R PR B PR I



